LABJNDu3 standard lightnessL*

L* YocsL*w - nc=100,

L* | aBanDuz=[IN[(A 17+A2a)I(A 2nA0n)] (Yno/100<Y<=Y,0)
L* \(3.6)=146 L* ,(18)=332,L*,,(90)=517

| ool 7120 033

LABJINDu3

tristimulus value difference

Yoc=L*w - nc=100,
L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019

log (AY/Y) LABJINDuU3
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A1 Az Y Y

S appllcauon

=0,000a ~ ~ range
1
1

1Y,=18
Yw=90

L* —332 dY,=0,17 dY,/Y,

Yn=3.6

LABJINDu3
tristimulus value contrast
Y=L *w - 6 :n=100,

L* L aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+A,Y)]

log (Y/AY)
C,=(Y/AY)

L*,=832 dY,=0,17, Y,/dY,=103
log(Y/dY 2,01, nh o}og ~

application
range
Y,=18
R

Yn=3.6

LABJINDuS3 relative standard lightnessL*/L* ,

L*/L* u YocmL*w nc=100,

L* | aBanDus=[IN[(A 10+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=146 L% ,(18)=382,L*,,(90)=517

loglLr/Lx,
L*,~49,L* ;=332

TINE86 T Yg=90

LABJNDuS3 relative

tristimulus value difference

Yoe=L*w ~ ne=100,

L* L aanDus=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
dY/dY,=AgnA 11+AanYI/dY,

log(A Y/AY W)
AYIAY,

Iog[(dvﬂdv)u] 0 .
application
range

Y,=18

Yy=90

YN=3.6

log [(AY/Y) I (AYIY)] LABJINDUS relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* Laganpua=[IN[(A 1n+A2nV)V(A 2rA0n)] (Yae/100<Y<=Yyo)
@AYIYYAYIY = (A Ao Y)Y (YY),

log[(dY/YY(dY/Y),]=0, m/=-0,09
* =332, dY,=0,17, dY,/Y,=0,0096,
1y,=18
=Clp log

appllc;mon-
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDuS3 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

L* L aBanDuz=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),

log[(Y/dY(Y/dY)]=0, m,=0,09
* =332 dY,=0,17, Yy 1(73 ————=
application
1 range
'y,=18
Yy =90

YN=3.6




